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P, UIH T SAGEId AT
fava : oy daeM (sales Promotion)

@A 3fb 15

e — T YT BT AR © |

ged 1 — TIa gad= o1 & ? Ay gade & AR a9l ddbHie ar fafi=
faferr 1 auie BT |
Define sales promotion. Describe various methods of sales promotion.

geq 2 — fasha Hagd MA@ ST &1 HHSSy |

Explain desgning of sales promotion campaign.

favg : e srivres (Business Economics)
ol 3 15

e — it geq & e 2

T 1 — AT BT A J 3 R A § ?
What do you understand by elasticity of demans ?

g 2 — feuoll forRay — (Write short notes)
1.q:5'1c gferafar — (Perfect-Competion)
2.31'{01( gfernfrar — (Imperfect-Competion)

fawg : §fT vd 9 (Banking and Insurance)
@A 3fb 15
e — ) U HRA1 1A g |
Ued 1 — 9% gRT oY a9 & fofg fay S aret 1Ml &7 Herg § F+emsy |
Explain in brief to advances given by banks for small traders.
U3 2 — 9RAR Sia dH1 99 &1 AT, G989 Ud Jee 0R U fde

fol @Q | Write an easy on setup, organization and management of LIC.

v : o < ie= (Financial account)

e — I T AT ifard B

U 1 — JHR Yob A U T GHAS & ¢ Ub Ul ol dlel Bl Gl 4
DI S aTell Yol gfaftear ifor |
What do you understand by royalty. Give journal entries that have to be passed in the
books of lesgee.

U3 2 — HEdl UUS HHA! o IRGR TUS 6. BT UYUT TR 20000 . BT AT ol
TAT 39 TR 1800 . fomar vd 41 & ford &9 oy | f9apT SfaeH 5
gfcrera iR AMARIT BHIA 1%% © | YT 7 3MfHaH AT 32000 5. &I
ST AT 2400 %. 9l @I Y| UGl & UM SHfcH el 600 .
ST oA BT AT | U¥dh Bl JRIDI H STdt Ud 3MMaId Wil 183 |
Mehta & Co. sent goods costing Rs. 20000 to Sarkar & Co. on consignment and
incurred Rs. 1800 on fright and insurance. Sales commission @ 5% and del
creder commission @ 1%% is payable. consignee sold goods to the extent of Rs.
32000 and expenses were Rs. 2400. The unsold stock was worth Rs. 600 in the

hands of consignee. Give journal entries and open necessary accounts in the
books of consignor.

@A AD 15




fawg : @aafie A9HT HURET (Business Regularatory Framework)

ge 1 — db & Gihd | 3T T FHST & XEih & JhR gagy ?
What do you meant by crossing cheque discuss its types.

U3 2 — ITHIGAl AReTT ATH 2019 & Iged U9 faRyany garsy ?

Discuss the objective & characteristics consumer protection 2019.

fawa : saraf® T (Business Mathematics)

g 1 — Ufaerd X 89 7 \HsSId & ¢ Fadld TR | fied & 98
ERIER

What do you understand by percentage ? Explain the importance of percentage in
business calculation.

(b) THL &R &I ST A9 9uf db HITAR 10 9faerd e dgal
BT | IfT URY BT ST 79800 BT ol <R d¥ & 3fd I

ST 18y |
The population of a city increases 10% annually. If the population at the beginning bc
79800. Find the population at the end of third year.

U 2 — (a) AJUTT B IRHTT HITY | 3A! fIIwarg qamsy |
Define ratio. Give the essential features.
(b) T AWM H AU 58 | AT UAH H 09 Sirg faar Sy ar
31UTd 8:11 BIC © | HXATY i |
Two numbers are in the ratio of 5:8. If 09 be added to each they are in the
ratio of 8:11 find the numbers.

foyg : sgaae dTe U9 AR (Business organization and communication)

g3 1 — H B HEd & ? sHG! ATAY IHSSY |

What is meant by company ? Explain its characterstics.

ged 2 — RV UThAT &1 AR DI TAT TG UlhdT & Hol Tl Bl
AU |

Describe the process of communication and explain elements of
communication.

fayg - GiT{I'%Iﬁ P Hel¥d Rrgia (Fundamentals of stenography) Off. Mgt.
Ued 1 — | god bl AU UG g9 YANT B & (A DI AHSISY 2

Explain 's' circle and it's curiting rules ?
U9 2 — IS & TANT Bl FHSNT ?
Explain use of Hoaks straight and curves strakes ?
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3. ToH 9
fa¥ : Dpata Processing

Ue 1 — UAUE, UaId H a9 g e dR & axol ol |

Write steps to creat workbook in MS Excel.

U9 2 — THUYE. Ui § Od Yol g RicifdeT Id & oy =Ror forRau |

Write steps to selecting cell and cell range in MS Excel.




